



# Traveling Wave Solutions of the RLW and Boussinesq Equations

Yavuz Ugurlu<sup>1</sup>, Ibrahim E. Inan<sup>2</sup>, Doğan Kaya<sup>3</sup>

<sup>1</sup>Firat University, Department of Mathematics, 23119 Elazig, TURKEY

<sup>2</sup>Firat University, Faculty of Education, 23119 Elazig, TURKEY

<sup>3</sup>Istanbul Commerce University, Istanbul, TURKEY

E-mail: [matematikci\\_23@yahoo.com.tr](mailto:matematikci_23@yahoo.com.tr), [ieinan@yahoo.com](mailto:ieinan@yahoo.com), [dkaya36@yahoo.com](mailto:dkaya36@yahoo.com)

Tel: 00.90. 424. 237 00 00/3511, Fax: 00.90. 424. 233 00 62.

**Abstract:** In this study, we use the generalized tanh function method for the traveling wave solutions of the generalized regularized long-wave (gRLW) equation and Boussinesq equation system.

**Key Words:** The generalized regularized long-wave equation, Boussinesq equation system, generalized tanh function method, traveling wave solutions.

---

## 1 Introduction

The mathematical modeling of events in nature can be explained by differential equations. These equations are mathematical models of complex physical occurrences that arise in engineering, chemistry, biology, mechanics and physics. So, the theory of nonlinear dispersive wave motion has recently undergone much study. The solutions of nonlinear equations play a crucial role in applied mathematics and physics, because; solutions of nonlinear partial differential equations provide a very significant contribution to people about the nature of physical phenomenon. We do not attempt to characterize the general form of nonlinear dispersive wave equations [1, 2]. Furthermore, when an original nonlinear equation is directly calculated, the solution will preserve the actual physical characters of solutions [3]. Explicit solutions to the nonlinear equations are of fundamental importance. Various methods for obtaining explicit solutions to nonlinear evolution equations have been proposed. Many explicit exact methods have been introduced in literature [4-17]. Among them are Generalized Miura Transformation, Darboux Transformation, Cole-Hopf Transformation, Hirota's dependent variable Transformation, the inverse scattering Transform and the Backlund Transformation, sine-cosine method, Painleve method, homogeneous balance method, and similarity reduction method.

Traveling wave solutions of many nonlinear differential equations can be stated with tanh function terms [18, 19]. The tanh function terms firstly were used on base *ad hoc* in 1990 and 1991 [20, 21]. Then, Malfliet [22] formalized the tanh method in 1992 and illustrated it with several examples, Parkes and Duffy presented the automatic tanh method [23] in 1996, after, Fan defined the extended tanh method [24] in 2000, later Elwakil presented the modified extended tanh method [25] in 2002, separately, the generalized extended tanh method [26] by Zheng in 2003, the improved extended tanh method [27] by Yomba in 2004, the tanh function method [28] by Chen and Zhang in 2004.

In this study, we implement the generalized tanh function method [29] to obtain the traveling wave solutions of the gRLW equation

$$u_t + u_x + \gamma(u^p)_x - \beta u_{xxt} = 0 \quad (1)$$

where  $p$  is a positive integer and  $\gamma$  and  $\beta$  are positive constants. The Eq. (1) was first put forward as a model for small-amplitude long-waves on the surface of water in a channel by peregrine [30, 31] and later by Benjamin et al [32]. In physical situations such as unidirectional wave's propagation in a water channel, long-crested waves in near-shore zones, and many others, the RLW equation serves an alternative model to the KdV equation [33, 34].

Furthermore, we study traveling wave solutions of general Boussinesq (gBQ) type fluid model. There are many types of equation form of the Boussinesq equation system, one of them is given by

$$\begin{aligned} u_t + v_x + uu_x + pu_{xxt} &= 0 \\ v_t + (uv)_x + \beta u_{xxx} &= 0 \end{aligned} \quad (2)$$

(2) where  $p$  and  $\beta$  are real constant. This system which generalizes the classical Boussinesq equation system was derived by Sachs [35] to describe small amplitude long waves in a water channel.

## 2 An Analysis of the Method and applications

In this chapter, we give a simple description of the tanh function method. For doing this, it can be considered in a two variables general form of nonlinear PDE

$$Q(u, u_t, u_x, u_{xx}, \dots) = 0 \quad (3)$$

The solution of the equation (3) is expressed as a finite series of tanh functions

$$u(x, t) = \sum_{i=0}^M a_i(x, t) F^i(\xi) \quad (4)$$

where  $\xi = \xi(x, t) = ax + q(t)$ ,  $M$  is a positive integer that can be determined by balancing the highest order derivate and with the highest nonlinear terms in equation,  $a_0(x, t), a_1(x, t), \dots, a_n(x, t)$  and  $\xi(x, t)$  can be determined. Substituting solution (4) into Eq. (3) yields a set of algebraic equations for  $F^i$ , then, all coefficients of  $F^i$  have to vanish. After this separated algebraic equation, we could found coefficients  $a_0(x, t), a_1(x, t), \dots, a_n(x, t)$ .

In this work, we consider to solve the Boussinesq equation and gRLW by using the generalized tanh function method which is introduced by Chen and Zhang [29]. The fundamental of their method is to take full advantage of the Riccati equation that tanh function satisfies and use its solutions. The required Riccati equation is given as

$$F' = A + BF + CF^2 \quad (5)$$

where  $F' = \frac{dF}{d\xi}$  and  $A, B, C$  are constants. Some of the solutions are given the paper [29].

## 3 Applications of the Method

**Example 1.** Let's consider a gRLW equation,

$$u_t + u_x + \gamma(u^p)_x - \beta u_{xxt} = 0 \quad (6)$$

Let  $\gamma = 1, \beta = 1$  and  $p = 2$ , we have equation

$$u_t + u_x + 2uu_x - u_{xxt} = 0 \quad (7)$$

When balancing  $uu_x$  with  $u_{xxt}$  then gives  $M = 2$ . Therefore, we may choose

$$u = f(t) + g(t)F(\xi) + h(t)F^2(\xi) \quad (8)$$

Where  $\xi = \alpha x + q(t)$ . Substituting (8) into Eq. (7) yields a set of algebraic equations for  $f(t), g(t), h(t)$  and  $A, B, C$ . These systems are finding as

$$\begin{aligned}
& f_t + gq_t A + gA\alpha + 2fgA\alpha - g_t\alpha^2 AB - g\alpha^2 q_t AB^2 - 2\alpha^2 A^2 C g q_t - 2h_t\alpha^2 A^2 - 6h\alpha^2 A^2 B q_t = 0 \\
& g_t + gq_t B + 2hAq_t + gB\alpha + 2hA\alpha + 2fgB\alpha + 4fhA\alpha + 2g^2 A\alpha - g_t\alpha^2 B^2 - g\alpha^2 q_t B^3 - \\
& \quad - 8\alpha^2 ABC g q_t - 2g_t\alpha^2 AC - 6h_t\alpha^2 AB - 14h\alpha^2 AB^2 q_t - 16h\alpha^2 A^2 C q_t = 0 \\
& gq_t C + h_t + 2hBq_t + gC\alpha + 2hB\alpha + 2fgC\alpha + 4fhB\alpha + 2g^2 B\alpha + 6hgA\alpha - 3g_t\alpha^2 BC - 7g\alpha^2 q_t B^2 C \\
& \quad - 8\alpha^2 AC^2 g q_t - 8h_t\alpha^2 AC - 52h\alpha^2 ABC q_t - 8h\alpha^2 B^3 q_t - 4h_t\alpha^2 B^2 = 0 \\
& 2hCq_t + 2hC\alpha + 4fhC\alpha + 2g^2 C\alpha + 6hgB\alpha + 4h^2 A\alpha - 2\alpha^2 C^2 g_t - 12g\alpha^2 q_t BC^2 - 38h\alpha^2 B^2 C q_t - \\
& 40h\alpha^2 AC^2 q_t - 10h_t\alpha^2 BC = 0 \tag{9} \\
& 6hgC\alpha + 4h^2 B\alpha - 6\alpha^2 C^3 g q_t - 54h\alpha^2 BC^2 q_t - 6h_t\alpha^2 C^2 = 0 \\
& 4h^2 C\alpha - 24h\alpha^2 C^3 q_t = 0
\end{aligned}$$

From the solutions of the system, we can found

$$h = 6\alpha C^2 q_t, \quad g = 6BC\alpha q_t, \quad f = \frac{8\alpha^2 AC q_t + \alpha^2 B^2 q_t - q_t - \alpha}{2\alpha}, \quad q_{tt} = 0 \tag{10}$$

with the aid of Mathematica. From (10), we can get

$$q = \lambda t, \quad q_t = \lambda, \quad h = 6\alpha C^2 \lambda, \quad g = 6BC\alpha \lambda, \quad f = \frac{8\alpha^2 AC \lambda + \alpha^2 B^2 \lambda - \lambda - \alpha}{2\alpha}, \quad \lambda = const. \tag{11}$$

Substituting (10) and (11) into (8) we have obtained the following multiple soliton-like and triangular periodic solutions (including rational solutions) of equation (7). These solutions are:

**Case 1:** if  $A = C = 1$ ,

$$u = \frac{8\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + 6\alpha \lambda \tan^2(\xi) \tag{12}$$

**Case 2:** if  $A = C = -1$ ,

$$u = \frac{8\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + 6\alpha \lambda \cot^2(\xi) \tag{13}$$

**Case 3:** if  $A = 1, C = -1$ ,

$$\begin{cases} u = \frac{-8\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + 6\alpha \lambda \tanh^2(\xi) \\ u = \frac{-8\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + 6\alpha \lambda \coth^2(\xi) \end{cases} \tag{14}$$

**Case 4:** if  $A = C = -\frac{1}{2}$ ,

$$\begin{cases} u = \frac{2\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha \lambda}{2} (\cot(\xi) \pm \csc(\xi))^2 \\ u = \frac{2\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha \lambda}{2} (\sec(\xi) - \tan(\xi))^2 \\ u = \frac{2\alpha^2 \lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha \lambda \cot^2(\xi)}{2(1 \pm \csc(\xi))^2} \end{cases} \tag{15}$$

**Case 5:** if  $A = C = \frac{1}{2}$ ,

$$\begin{cases} u = \frac{2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda}{2} (\tan(\xi) \pm \sec(\xi))^2 \\ u = \frac{2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda}{2} (\csc(\xi) - \cot(\xi))^2 \\ u = \frac{2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda \tan^2(\xi)}{2(1 \pm \sec(\xi))^2} \end{cases} \quad (16)$$

**Case 6:** if  $A = \frac{1}{2}, C = -\frac{1}{2}$

$$\begin{cases} u = \frac{-2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda}{2} (\coth(\xi) \pm \operatorname{csch}(\xi))^2 \\ u = \frac{-2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda}{2} (\tanh(\xi) \pm \operatorname{sech}(\xi))^2 \\ u = \frac{-2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda \tanh^2(\xi)}{2(1 \pm \operatorname{sech}(\xi))^2} \\ u = \frac{-2\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{3\alpha\lambda \coth^2(\xi)}{2(1 \pm \operatorname{csch}(\xi))^2}, \quad i^2 = -1 \end{cases} \quad (17)$$

**Case 7:** if  $A = 1, B = -2, C = 2$

$$u = \frac{20\alpha^2\lambda - \lambda - \alpha}{2\alpha} - \frac{24\alpha\lambda \tan(\xi)}{(1 + \tan(\xi))} + \frac{24\alpha\lambda \tan^2(\xi)}{(1 + \tan(\xi))^2} \quad (18)$$

**Case 8:** if  $A = 1, B = C = 2,$

$$u = \frac{20\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{24\alpha\lambda \tan(\xi)}{(1 - \tan(\xi))} + \frac{24\alpha\lambda \tan^2(\xi)}{(1 - \tan(\xi))^2} \quad (19)$$

**Case 9:** if  $A = -1, B = 2, C = -2$

$$u = \frac{20\alpha^2\lambda - \lambda - \alpha}{2\alpha} - \frac{24\alpha\lambda \cot(\xi)}{(1 + \cot(\xi))} + \frac{24\alpha\lambda \cot^2(\xi)}{(1 + \cot(\xi))^2} \quad (20)$$

**Case 10:** if  $A = -1, B = C = -2$

$$u = \frac{20\alpha^2\lambda - \lambda - \alpha}{2\alpha} + \frac{24\alpha\lambda \cot(\xi)}{(1 - \cot(\xi))} + \frac{24\alpha\lambda \cot^2(\xi)}{(1 - \cot(\xi))^2} \quad (21)$$

**Case 11:** if  $A = B = 0$  and  $C \neq 0,$

$$u = \frac{-\alpha - \lambda}{2\alpha} + 6\alpha\lambda C^2 \left( -\frac{1}{c\xi + c_0} \right)^2 \quad (22)$$

where  $\xi = \alpha x + \lambda t$  for (12) - (22).

**Example 2.** Let's consider Boussinesq equation system,

$$\begin{cases} u_t + v_x + uu_x + pu_{xxt} = 0 \\ v_t + (uv)_x + \beta u_{xxx} = 0 \end{cases} \quad (23)$$

Let  $p = 1, \beta = 1,$  we have system of the equation

$$\begin{cases} u_t + v_x + uu_x + u_{xxt} = 0 \\ v_t + u_x v + v_x u + u_{xxx} = 0 \end{cases} \quad (24)$$

When balancing  $uu_x$  with  $u_{xxt}$  then gives  $M_1 = 2$  and  $u_x v, v_x u$  with  $u_{xxx}$  then gives  $M_2 = 2$ . Therefore, we may choose

$$\begin{cases} u = f(t) + g(t)F(\xi) + h(t)F^2(\xi) \\ v = f_1(t) + g_1(t)F(\xi) + h_1(t)F^2(\xi) \end{cases} \quad (25)$$

where  $\xi = \alpha x + q(t)$ . Substituting (25) into Eq. (24) yields a set of algebraic equations for  $f(t), g(t), h(t), f_1(t), g_1(t), h_1(t)$ . These systems are finding as

$$\begin{aligned} f_t + gq_t A + g_1 A \alpha + f g \alpha + g_t \alpha^2 A B + g \alpha^2 q_t A B^2 + 2 \alpha^2 A^2 C g q_t + 2 h_t \alpha^2 A^2 + 6 h \alpha^2 A^2 B q_t &= 0 \\ g_t + g q_t B + 2 h A q_t + g_1 B \alpha + 2 h_1 A \alpha + f g B \alpha + 2 f h A \alpha + g^2 A \alpha + g_t \alpha^2 B^2 + g \alpha^2 q_t B^3 + 8 \alpha^2 g A B C q_t \\ + 2 \alpha^2 A C g_t + 6 h_t \alpha^2 A B + 14 h \alpha^2 A B^2 q_t + 16 h \alpha^2 A^2 C q_t &= 0 \\ g q_t C + h_t + 2 h B q_t + g_1 C \alpha + 2 h_1 B \alpha + f g C \alpha + 2 f h B \alpha + g^2 B \alpha + 3 h g A \alpha + 7 g \alpha^2 B^2 C q_t + 3 \alpha^2 B C g_t \\ + 8 \alpha^2 A C^2 g q_t + 52 h \alpha^2 A B C q_t + 8 h_t \alpha^2 A C + 4 h_t \alpha^2 B^2 + 8 h \alpha^2 B^3 q_t &= 0 \\ 2 h C q_t + 2 h_1 C \alpha + 2 f h C \alpha + g^2 C \alpha + 3 h g B \alpha + 2 h^2 A \alpha + 12 \alpha^2 g B C^2 q_t + 2 \alpha^2 C^2 g_t + 40 h \alpha^2 A C^2 q_t \\ + 38 h \alpha^2 B^2 C q_t + 10 h_t \alpha^2 B C &= 0 \\ 3 h g C \alpha + 2 h^2 B \alpha + 6 \alpha^2 C^3 g q_t + 54 h \alpha^2 B C^2 q_t + 6 h_t \alpha^2 C^2 &= 0 \\ 2 h^2 C \alpha + 24 h \alpha^2 C^3 q_t &= 0 \\ (f_1)_t + g_1 A q_t + g f_1 A \alpha + g_1 f A \alpha + g \alpha^3 A B^2 + 2 \alpha^3 A^2 C g + 6 h \alpha^3 A^2 B &= 0 \\ (g_1)_t + g_1 B q_t + 2 h_1 A q_t + g f_1 B \alpha + 2 h f_1 A \alpha + 2 g g_1 A \alpha + g_1 f B \alpha + 2 h_1 f A \alpha + g \alpha^3 B^3 + 8 \alpha^3 g A B C \\ + 14 h \alpha^3 A B^2 + 16 h \alpha^3 A^2 C &= 0 \\ g_1 C q_t + (h_1)_t + 2 h_1 B q_t + g f_1 C \alpha + 2 h f_1 B \alpha + 2 g g_1 B \alpha + 3 h g_1 A \alpha + 3 g h_1 A \alpha + g_1 f_1 C \alpha + 2 h_1 f B \alpha \\ + 7 g \alpha^3 B^2 C + 8 \alpha^3 A C^2 g + 52 h \alpha^3 A B C + 8 h \alpha^3 B^3 &= 0 \\ 2 h_1 C q_t + 2 h f_1 C \alpha + 2 g g_1 C \alpha + 3 h g_1 B \alpha + 3 g h_1 B \alpha + 4 h h_1 A \alpha + 2 h_1 f C \alpha + 12 \alpha^3 g B C^2 + \\ 40 h \alpha^3 A C^2 + 38 h \alpha^3 B^2 C &= 0 \\ 3 h g_1 C \alpha + 3 g h_1 C \alpha + 4 h h_1 B \alpha + 6 \alpha^3 C^3 g + 54 h \alpha^3 B C^2 &= 0 \\ 4 h h_1 C \alpha + 24 h \alpha^3 C^3 &= 0 \end{aligned} \quad (26)$$

From the solutions of the system, we can found

$$\begin{aligned} h &= -12 \alpha C^2 q_t, \quad g = -12 B C \alpha q_t, \quad f = -\frac{q_t}{\alpha} - \frac{\alpha}{2 q_t} - B^2 \alpha q_t - 8 A C \alpha q_t, \quad q_{tt} = 0 \\ h_1 &= -6 \alpha^2 C^2, \quad g_1 = -6 B C \alpha^2, \quad f_1 = -\frac{\alpha^2 B^2}{2} - 4 \alpha^2 A C + \frac{\alpha^2}{4 (q_t)^2} \end{aligned} \quad (27)$$

with the aid of Mathematica. From (27), we can get

$$\begin{aligned} q &= \lambda t, \quad q_t = \lambda, \quad h = -12 \alpha C^2 \lambda, \quad g = -12 B C \alpha \lambda \\ f &= -\frac{\lambda}{\alpha} - \frac{\alpha}{2 \lambda} - B^2 \alpha \lambda - 8 \alpha \lambda A C, \quad f_1 = -\frac{\alpha^2 B^2}{2} - 4 \alpha^2 A C + \frac{\alpha^2}{4 \lambda^2} \end{aligned} \quad (28)$$

Substituting (27) and (28) into (25) we have obtained the following multiple soliton-like and triangular periodic solutions (including rational solutions) of equation (24) same as the above example. These solutions are:

**Case 1:** if  $A = C = 1$ ,

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 8\alpha\lambda\right) - 12\alpha\lambda \tan^2(\xi) \\ v = \left(-4\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - 6\alpha^2 \tan^2(\xi) \end{cases} \quad (29)$$

**Case 2:** if  $A = C = -1$ ,

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 8\alpha\lambda\right) - 12\alpha\lambda \cot^2(\xi) \\ v = \left(-4\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - 6\alpha^2 \cot^2(\xi) \end{cases} \quad (30)$$

**Case 3:** if  $A = 1, C = -1$ ,

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 8\alpha\lambda\right) - 12\alpha\lambda \tanh^2(\xi) \\ v = \left(4\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - 6\alpha^2 \tanh^2(\xi) \end{cases} \quad \begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 8\alpha\lambda\right) - 12\alpha\lambda \coth^2(\xi) \\ v = \left(4\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - 6\alpha^2 \coth^2(\xi) \end{cases} \quad (31)$$

**Case 4:** if  $A = C = -\frac{1}{2}$ ,

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - 3\alpha\lambda (\cot(\xi) \pm \csc(\xi))^2 \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2 (\cot(\xi) \pm \csc(\xi))^2 \end{cases}$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - 3\alpha\lambda (\sec(\xi) - \tan(\xi))^2 \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2 (\sec(\xi) - \tan(\xi))^2 \end{cases} \quad (32)$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - \frac{3\alpha\lambda \cot^2(\xi)}{(1 \pm \csc(\xi))^2} \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2} \frac{\alpha^2 \cot^2(\xi)}{(1 \pm \csc(\xi))^2} \end{cases}$$

**Case 5:** if  $A = C = \frac{1}{2}$ ,

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - 3\alpha\lambda (\tan(\xi) \pm \sec(\xi))^2 \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2 (\tan(\xi) \pm \sec(\xi))^2 \end{cases}$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - 3\alpha\lambda (\csc(\xi) - \cot(\xi))^2 \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2 (\csc(\xi) - \cot(\xi))^2 \end{cases} \quad (33)$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} - 2\alpha\lambda\right) - \frac{3\alpha\lambda \tan^2(\xi)}{(1 \pm \sec(\xi))^2} \\ v = \left(-\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2} \frac{\alpha^2 \tan^2(\xi)}{(1 \pm \sec(\xi))^2} \end{cases}$$

**Case 6:** if  $A = \frac{1}{2}, C = -\frac{1}{2}$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 2\alpha\lambda\right) - 3\alpha\lambda(\coth(\xi) \pm \operatorname{csch}(\xi))^2 \\ v = \left(\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2(\coth(\xi) \pm \operatorname{csch}(\xi))^2 \end{cases}$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 2\alpha\lambda\right) - 3\alpha\lambda(\tanh(\xi) \pm \operatorname{isech}(\xi))^2 \\ v = \left(\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2}\alpha^2(\tanh(\xi) \pm \operatorname{isech}(\xi))^2 \end{cases} \tag{34}$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 2\alpha\lambda\right) - \frac{3\alpha\lambda \tanh^2(\xi)}{(1 \pm \operatorname{sech}(\xi))^2} \\ v = \left(\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2} \frac{\alpha^2 \tanh^2(\xi)}{(1 \pm \operatorname{sech}(\xi))^2} \end{cases}$$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda} + 2\alpha\lambda\right) - \frac{3\alpha\lambda \coth^2(\xi)}{(1 \pm \operatorname{icsch}(\xi))^2} \\ v = \left(\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{3}{2} \frac{\alpha^2 \coth^2(\xi)}{(1 \pm \operatorname{icsch}(\xi))^2} \end{cases}$$

**Case 7:** if  $A = 1, B = -2, C = 2$

$$\begin{cases} u = \left(-20\alpha\lambda - \frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda}\right) + \frac{48\alpha\lambda \tan(\xi)}{1+\tan(\xi)} - \frac{48\alpha\lambda \tan^2(\xi)}{(1+\tan(\xi))^2} \\ v = \left(-10\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) + \frac{24\alpha^2 \tan(\xi)}{1+\tan(\xi)} - \frac{24\alpha^2 \tan^2(\xi)}{(1+\tan(\xi))^2} \end{cases} \tag{35}$$

**Case 8:** if  $A = 1, B = C = 2$

$$\begin{cases} u = \left(-20\alpha\lambda - \frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda}\right) - \frac{48\alpha\lambda \tan(\xi)}{1-\tan(\xi)} - \frac{48\alpha\lambda \tan^2(\xi)}{(1-\tan(\xi))^2} \\ v = \left(-10\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{24\alpha^2 \tan(\xi)}{1-\tan(\xi)} - \frac{24\alpha^2 \tan^2(\xi)}{(1-\tan(\xi))^2} \end{cases} \tag{36}$$

**Case 9:** if  $A = -1, B = 2, C = -2$

$$\begin{cases} u = \left(-20\alpha\lambda - \frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda}\right) + \frac{48\alpha\lambda \cot(\xi)}{1+\cot(\xi)} - \frac{48\alpha\lambda \cot^2(\xi)}{(1+\cot(\xi))^2} \\ v = \left(-10\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) + \frac{24\alpha^2 \cot(\xi)}{1+\cot(\xi)} - \frac{24\alpha^2 \cot^2(\xi)}{(1+\cot(\xi))^2} \end{cases} \tag{37}$$

**Case 10:** if  $A = -1, B = -2, C = -2$

$$\begin{cases} u = \left(-20\alpha\lambda - \frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda}\right) - \frac{48\alpha\lambda \cot(\xi)}{1-\cot(\xi)} - \frac{48\alpha\lambda \cot^2(\xi)}{(1-\cot(\xi))^2} \\ v = \left(-10\alpha^2 + \frac{\alpha^2}{4\lambda^2}\right) - \frac{24\alpha^2 \cot(\xi)}{1-\cot(\xi)} - \frac{24\alpha^2 \cot^2(\xi)}{(1-\cot(\xi))^2} \end{cases} \tag{38}$$

**Case 11:** if  $A = B = 0, C \neq 0$

$$\begin{cases} u = \left(-\frac{\lambda}{\alpha} - \frac{\alpha}{2\lambda}\right) - 12\alpha\lambda C^2 \left(\frac{-1}{C\xi + c_0}\right)^2 \\ v = \frac{\alpha^2}{4\lambda^2} - 6\alpha^2 C^2 \left(\frac{-1}{C\xi + c_0}\right)^2 \end{cases} \tag{39}$$

where  $\xi = \alpha x + \lambda t$  for (29) - (39).

### 3 Conclusions

In this paper, we present the generalized tanh function method by using ansatz (4) and, with aid of Mathematica, implement it in a computer algebraic system. An implementation of the method is given by applying it to gRLW

equation and Boussinesq equation system with physics interests. We also obtain some new and more general solutions for gRLW equation and Boussinesq equation system at same time. The method can be used to many other nonlinear equations or coupled ones. In addition, this method is also computerizable, which allows us to perform complicated and tedious algebraic calculation on a computer.

## References

- [1] Debnath L. Nonlinear Partial Differential Equations for Scientist and Engineers. Birkhauser, Boston, MA, 1997.
- [2] Wazwaz A.M. Partial Differential Equations: Methods and Applications. Balkema, Rotterdam, 2002.
- [3] Hereman W., Banerjee P.P., Korpel A., Assanto G., Immerzele A. van, Meerpoel A. Exact solitary wave solutions of nonlinear evolution and wave equations using a direct algebraic method. *J. Phys. A: Math. Gen.* 19 (1986) p. 607-628.
- [4] Khater A.H., Helal M.A., El-Kalaawy O.H. Bäcklund transformations: exact solutions for the KdV and the Calogero-Degasperis-Fokas mKdV equations. *Math. Meth. in the Appl. Sci.* 21 (1998) p.719-731.
- [5] Khater A.H., Malfliet W., Kamel E.S. Travelling wave solutions of some classes of nonlinear evolution equations in (1+1) and higher dimensions. *Math. Comput. Simul.* 64 (2004) p.247-258.
- [6] M. Inc. Constructing solitary pattern solutions of the nonlinear dispersive Zakharov–Kuznetsov equation. *Chaos Solitons Fract.* 39 (2009) p.109-119.
- [7] Khater A.H., Hassan M.M., Temsah R.S. Cnoidal wave solutions for a class of fifth-order KdV equations. *Math. Comput. Simul.* 70 (2005) p.221-226.
- [8] Ugurlu Y., Kaya D. Solutions the Cahn-Hilliard Equation. *Comput. & Math. with Appl.* 56 (2008) p.3038-3045.
- [9] Khater A.H., Callebaut D.K., Seadawy A.R. General soliton solutions of an n-dimensional complex Ginzberg-Landau equation. *Phys. Scr.* 62 (2000) p.353-357.
- [10] Khater A.H., Hassan M.M., Temsah R.S. Exact solutions with Jacobi elliptic functions of two nonlinear models for ion acoustic plasma wave. *J. Phys. Soc. Japan* 74 (2005) p1431-1435.
- [11] Inan I.E. Exact solutions for coupled KdV equation and KdV equations. *Phys. Lett. A* 371 (2007) p.90-95.
- [12] Oziş T., Yıldırım A. Reliable analysis for obtaining exact soliton solutions of nonlinear Schrödinger (NLS) equation. *Chaos Solitons Fract.* 38 (2008), p. 209-212.
- [13] M. Inc. An L-stable extended two-step method for the integration of ordinary differential equations. *Appl. Math. Comput.* 186 (2007) 1395-1401.
- [14] M. Inc. An approximate solitary wave solution with compact support for the modified KdV equation. *Appl. Math. Comput.* 184 (2007) p.631-637.
- [15] Ugurlu Y., Kaya D. Exact and Numerical Solutions of Generalized Drinfeld-Sokolov Equations. *Phys. Lett. A* 372 (2008) p.2876-2873.
- [16] Fan E.G. Extended tanh-function method and its applications to nonlinear equations. *Phys. Lett. A* 277 (2000) p.212-218.
- [17] Chen H., Zhang H. New multiple soliton solutions to the general Burgers–Fisher equation and the Kuramoto–Sivashinsky equation. *Chaos Solitons Fract.* 19 (2004) p.71-76.
- [18] Hereman W., Korpel A., Banerjee P.P. *Wave Motion* 7 (1985) p.283-289.
- [19] Hereman W., Takaoka M. Solitary wave solutions of nonlinear evolution and wave equations using a direct method and MACSYMA. *J. Phys. A: Math. Gen.* 23 (1990) p.4805-4822.
- [20] Lan H., Wang K. Exact solutions for two nonlinear equations. *J. Phys. A: Math. Gen.* 23 (1990) p.3923-3928.
- [21] Lou S., Huang G., Ruan H. Exact solitary waves in a convecting fluid. *J. Phys. A: Math. Gen.* 24 (1991) L587-L590.
- [22] Malfliet W. Solitary wave solutions of nonlinear wave equations, *Am. J. Phys.* 60 (1992) p.650-654.
- [23] Parkes E. J., Duffy B. R. An automated tanh-function method for finding solitary wave solutions to non-linear evolution equations. *Comput. Phys. Commun.* 98 (1996) p.288-300.
- [24] Fan E. Extended tanh-function method and its applications to nonlinear equations. *Phys. Lett. A* 277 (2000) p.212-218.
- [25] Elwakil S. A., El-labany S. K., Zahran M. A., Sabry R. Modified extended tanh-function method for solving nonlinear partial differential equations. *Phys. Lett. A* 299 (2002) p.179-188.
- [26] Zheng X., Chen Y., Zhang H. Generalized extended tanh-function method and its application to (1+1)-dimensional dispersive long wave equation. *Phys. Lett. A* 311 (2003) p.145-157.
- [27] Yomba E. Construction of new soliton-like solutions of the (2+1) dimensional dispersive long wave equation. *Chaos Solitons Fract.* 20 (2004) p.1135-1139.

- [28] Chen H., Zhang H. New multiple soliton solutions to the general Burgers-Fisher equation and the Kuramoto-Sivashinsky equation. *Chaos Solitons Fract.* 19 (2004) p.71-76.
- [29] Chen H., Zhang H. New multiple soliton-like solutions to the generalized  $(2 + 1)$ -dimensional KP equation. *Appl. Math. and Comput.* 157 (2004) p.765-773.
- [30] Peregrine D.H. Calculations of the development of an undular bore. *J. Fluid Mech.* 25 (1996) p.321-330.
- [31] Peregrine D.H. Long waves on a beach, *J. Fluid Mech.* 27 (1967) p.815-827.
- [32] Benjamin T.B., Bona J.L., Mahony J.J. Model equations for long waves in non-linear dispersive systems. *Phil. Trans. of the Royal Soc.* 272A (1972) p.47-78.
- [33] Bona J.L., Pritchard W.G., Scott L.R.. A comparison of solutions of two model equations for long waves, in: N.R. Lebovitz (Ed.), *Fluid Dynamics in Astrophysics and Geophysics, Lectures in Appl. Math.* (1983) p.235-267.
- [34] Bona J.L., Pritchard W.G., Scott L.R. An evaluation of a model equation for water waves. *Phil. Trans. of the Royal Soc.* 302 A (1981) 457-510.
- [35] Sachs R.L. On the integrable variant of the boussinesq system: Painlevé property, rational solutions, a related many-body system, and equivalence with the AKNS hierarchy. *Physica D* 30 (1988) p.1-27.